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Code No. 4201/CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous (YWS)(New Pattern) Examination, July 2018

Subject : Advanced Managerial Accounting

Paper – 101
Time : 3 Hours Max. Marks: 80

Note : This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

PART – A (5 x 4 = 20 Marks)
1 Answer any five questions not exceeding 10 lines each.

(a) What are the objectives of International Accounting Standards?
(b) State the limitations of Management Accounting.
(c) Write about responsibility centres.
(d) Write about the meaning and significance of Responsibility Accounting.
(e) Explain the importance of Human Resource Accounting.
(f) Calculate current ratio, when inventory is Rs.80,000, prepaid expenses are

Rs. 2000 ; Quick ratio is 2.5 to 1, and current liabilities are Rs.50,000.
(g) From the following information you are required to determine the most profitable

level of output:
out put

0 – 15000 units
(Rs)

15001 to 25,000
units
(Rs)

25001 to 30,000
units
(Rs)

Selling price per unit
Variable cost per unit
Fixed cost

16.00
12.00

60,000

15.20
12.00

64,000

15.20
12.20

78,000

(h) Prepare Responsibility Accounting balance sheet with imaginary figures.

PART – B ( 5 x 12 = 60 Marks)

2 (a) Write the meaning and differences between Management accounting and Cost
accounting.

OR
(b) Give the concept, role and classification of Accounting theory and also state

different Approaches in Accounting theory.

3 (a) From the following particulars draw up the Balance sheet of the company.
Current Ratio
Quick Ratio
Net working capital
Stock Turnover Ratio (cost of sales / closing stock)
Gross profit ratio
Fixed Assets – Turnover Ratio (on cost of sales)
Debtors Turnover Ratio
Fixed Assets to shareholder’s Net worth
Reserves and surplus to capital

2.5
1.5

Rs. 30,000
6 times

20%
2 times

2 months
0.80
0.50

OR
..2
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(b) The Financial position of Ram on 1st January 2007 was as follows:

Liabilities 1-1-2007
(Rs.)

31-12-2007
(Rs.)

Assets 1-1-2007
(Rs.)

31-12-2007
(Rs.)

Creditors
Mrs. Ram’s loan
Loan from Bank
Capital

36,000
-

30,000
1,48,000

_______
2,14,000

41,000
20,000
25,000

1,49,000

_______
2,35,000

Cash
Debtors
Stock
Land
Building
Machinery

4,000
35,000
25,000
20,000
50,000

__80,000
2,14,000

3,600
38,400
22,000
30,000
55,000

__86,000
2,35,000

During the year, the proprietor withdraw Rs.26,000 for domestic purpose. The
provision for Depreciation against Machinery as on 1-1-2007 was Rs.27,000 and on 31-
12-2007 was Rs. 36,000. Prepare the cash flow statement for the year ended 31-12-
2007.

4 (a) Explain the advantages and limitations of Marginal costing.

OR
(b) A Radio manufacturing company finds that while it costs Rs.6.25 each to make

component X, the same is available in the market at Rs.5.57 each, with an
assurance of continued supply. The Break-down of costs is as follows:

Rs.
Materials 2.75 each
Labour 1.75 each
Other variable cost 0.50 each
Depreciation and other fixed cost 1.25 each

6.25 each
(i) Should the company Make or Buy?
(ii) What would be your decision if the supplier offered the component at Rs.4.85

each?

5 (a) The following particulars relate to a manufacturing company.

Half Year Ended Sales
(Rs.)

Total Cost
(Rs.)

30 – 9 – 2014
31 – 3 – 2015

6,00,000
8,00,000

5,00,000
6,50,000

You are required to find out:
(i) Fixed costs for the year
(ii) Profit volume ratio
(iii) Margin of safety when sales are Rs.4,00,000 and
(iv)Variable costs for the year

OR

..3
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(b) Ascertain net monetary result as at 31st March, 2010 from the data given below:
1 – 4 – 2009

(Rs.)
31 – 3 – 2010

(Rs.)
Cash at Bank
Accounts Receivable
Accounts Payable

15,000
45,000
75,000

21,000
54,000
50,000

General Price Index Number:
1st April, 2009 100
31st March, 2010 125
2009 – 2010 Average 120

6 (a) Give the need and trace briefly the development of human resource accounting.
OR

(b) What do you mean by Financial reporting? Briefly explain the general and
specific purpose of Financial reporting.

*****
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FACULTY OF COMMERCE
M.Com. (CDE)(Previous)  (YWS) (New Pattem) Examination, July 2018

Advanced Managerial Accounting
Code-101

Time : 3 Hours Max Marks : 80

Code No. 4201/CDE/T

$uÛ≤>∑eTT ` m (5I4R 20 e÷s¡Tÿ\T)

     dü÷#·q : ÁøÏ+~ yê{Ï̋ À @yÓ’Hê ◊<äT Á|üX¯ï\≈£î ˇø=ÿø£ÿ<ëìøÏ 10 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü »yêãT Áyêj·T+&ç.
1 a. n+‘·sê®rj·T nøö+{Ï+>¥ Á|üe÷D≤\ jÓTTø£ÿ <Û̊´j·÷ Ò̋$?

b. ìs¡«Vü≤D nøö+{Ï+>¥ jÓTTø£ÿ |ü]$T‘·T\T ‘Ó\T|ü⁄eTT.
c. u≤<Ûä́ ‘ê πø+Á<ë\qT >∑÷]Ã Áyêj·T+&ç.
d. u≤<Ûä́ ‘ê nøö+{Ï+>¥ jÓTTø£ÿ ns¡ú+ eT]j·TT ÁbÕeTTK´‘·qT Áyêj·TTeTT.
e. e÷qe eqs¡T\ nøö+{Ï+>¥ jÓTTø£ÿ ÁbÕ<Ûëq´‘·qT $e]+#·+&ç.
f. ÇHÓ«+≥Ø (düs¡T≈£î) s¡÷. 80,000— eTT+<äT>± #Ó*¢+∫q Ks¡TÃ\T s¡÷. 2,000 Á<äe´‘·«|ü⁄ (‘·«]‘·)

ìwüŒ‹Ô 2.5:1 eT]j·TT Á|üdüTÔ‘· n|ü\T s¡÷. 50,000 nsTTq Á|üdüTÔ‘· ìwüŒ‹Ôì ˝…øÏÿ+#·+&ç.
g. ~>∑Te ì∫Ãq düe÷#ês¡+ Ä<Ûës¡+>± @kÕúsTT n‘·́ +‘· ˝≤uÛÑ<ëj·Tø£yÓTÆq<√ ‘Ó*j·TCÒj·T+&ç.

ñ‘·Œ‹Ô kÕúsTT
0`15,000 j·T÷ì≥T¢ 15001`25000 25001`30,000

neTàø£|ü⁄ <Ûäs¡ (j·T÷ì{Ÿ 1øÏ) 16.00 15.20 15.20
#·s¡ e´j·T+ (j·T÷ì{Ÿ 1øÏ) 12.00 12.00 12.20
dæús¡ e´j·T+ 60,000 64,000 78,000

h. u≤<Ûä´‘ê nøö+{Ÿ jÓTTø£ÿ }Vü‰‘·àø£yÓTÆq ÄdæÔ n|ü\ |ü{Ïºì ‘·j·÷s¡T#˚j·T+&ç.

uÛ≤>∑eTT ` _ (5I12R 60 e÷s¡Tÿ\T)
     dü÷#·q : á ÁøÏ+~ Á|üX¯ï\≈£î »yêãT\T Áyêj·T+&ç. yê´düs¡÷|ü Á|üX¯ï˝…’‘˚ ˇø=ÿø£ÿ Á|üX¯ï≈£î 3 ù|J\≈£î $T+#·≈£î+&Ü

     »yêãT Áyêj·T+&ç.
2. m) ìs¡«Vü≤D nøö+{Ï+>¥ eT]j·TT ø±dtº nøö+{Ï+>¥ ns¡ú+ ‘Ó*|æ, yê{ÏeT<Ûä́ >∑\ ‘˚&Ü\qT Áyêj·T+&ç.

Ò̋<ë
_) nøö+{Ï+>¥ dæ<ë∆+‘·+ jÓTTø£ÿ eØZø£s¡D, uÛ≤eq eT]j·TT <ëì bÕÁ‘·qT ‘Ó*|æ, <ëìøÏ >±qT >∑\ $$<Ûä

|ü<ä∆‘·T\qT (Approaches) ( Ò̋<ë) $<ÛëHê\qT ‘Ó\T|ü+&ç.
3. m) ~>∑Te Ç∫Ãq $esê\qT rdüTø=ì ø£+ô|˙ yê] ÄdæÔ n|ü\ |ü{°ºì ‘·j·÷s¡T#˚j·T+&ç.

Á|üdüTÔ‘· ìwüŒ‹Ô 2.5
Á<äe´‘·«|ü⁄ (‘·«]‘·) ìwüŒ‹Ô 1.5
ìø£s¡ ìs¡«Vü≤D eT÷\<Ûäq+ s¡÷. 30,000
düs¡T≈£î ≥s√ïes¡T ìwüŒ‹Ô (neTàø£ edüTÔe⁄\ e´j·T+/eTT–+|ü⁄ düs¡T≈£î) 6 ¬s≥T¢
dü÷ú\ ˝≤uÛÑ ìwüŒ‹Ô 20%

Note: This paper will be evaluated for 100 marks for the candidates not having Internal Assignment
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dæúsêdüTÔ\ ≥s√ïes¡T ìwüŒ‹Ô (n$Tàq edüTÔe⁄\ e´j·T+ô|’)  2 ¬s≥T¢.
ãTTD Á>∑düTú\ ≥s√ïes¡T ìwüŒ‹Ô 2 HÓ\\T.
dæúsêdüTÔ\T ` yê{≤<ës¡T\ ìø£s¡ $\Te 0.80
]»s¡T«\T¢ eT]j·TT $T>∑T\T¢ ` eT÷\<Ûäq+ 0.50.

Ò̋<ë
_) 1 »qe] 2007 Hê{Ï sêyéT jÓTTø£ÿ Ä]úø£ dæú‹ ÁøÏ+~ $<Ûä+>± ñqï~.

n|ü\T 1.4.2014 31.3.2015 ÄdüTÔ\T 1.4.2014 31.3.2015

                                               Rs.            Rs.                                        Rs.              Rs.

ãTTD<ë‘·\T 36,000       41,000 q>∑<äT 4,000 3,600
leT‹ sêyéT n|ü ``` 20,000 ãTTDÁ>∑düTÔ\T 35,000 38,400
u≤+≈£î qT+∫ ãTTD+ 30,000 25,000 düs¡T≈£î 25,000 22,000
ã÷\<Ûäq+ 1,48,000 1,49,000 uÛÑ÷$T 20,000 30,000

uÛÑeHê\T 50,000 55,000
j·T+Á‘ê\T 80,000 86,000

2,14,000 2,35,000 2,14,000 2,35,000

Á|üdüTÔ‘· dü+e‘·‡sêìøÏ >±qT j·T»e÷ì kı+‘êìøÏ yê&ÉT≈£îqï yÓTT‘·Ô+ s¡÷. 26,000— 1`1`2007 eT]j·TT
31`12`2007≈£î >±qT j·T+Á‘·+ô|’ ‘·s¡T>∑T<ä\ @sêŒ≥T s¡÷. 27,000 eT]j·TT s¡÷. 36,000.

31`12`2007‘√ n+‘·eTj˚T´ dü+e‘·‡sêìøÏ >±qT q>∑<äT Á|üyêVü‰Hé ìy˚~ø£qT ‘·j·÷s¡T #˚j·T+&ç.
4. m) e÷]®q˝Ÿ ø±dæº+>¥ jÓTTø£ÿ Á|üjÓ÷»Hê\qT eT]j·TT |ü]$T‘·T\qT $e]+#·+&ç.

Ò̋<ë
_) ˇø£ πs&çjÓ÷ ø£+ô|˙ yês¡T ‘x’ nH˚ $&çuÛ≤>±ìï ‘·j·÷s¡T#˚j·TT≥≈£î>±qT yÓ∫Ã+∫q Ks¡TÃ (e´j·T+)

s¡÷. 6.25 n<˚ $&çuÛ≤>∑+ ãj·T{Ï e÷¬sÿ≥T˝À @s¡ø£yÓTÆq ø=s¡‘· Ò̋≈£î+&Ü s¡÷. 5.57≈£î \_ÛdüTÔqï~.
e´j·T ìy˚~ø£ ~>∑Te ˙j·Tã&çq~ : s¡÷.
yÓT{°]j·T˝Ÿ‡ 2.75
ÁX¯eT 1.75
Ç‘·s¡ zesYôV≤&é‡ e´j·T+ 0.50
‘·s¡T>∑T<ä\ eT]j·TT Ç‘·s¡ dæús¡ e´j·÷\T 1.25

6.25
(i) ø£+ô|˙ yês¡T Ä $&ç uÛ≤>±ìï ‘·j·÷s¡T #˚j·÷˝≤ Ò̋<ë ø=qT>√\T #˚j·÷˝≤?
(ii) ˇø£ y˚fi¯ dü|ü¢sTT<ës¡T Ä uÛ≤>±ìï s¡÷. 4.85≈£î dü|ü¢sTT #˚ùdÔ MT ìs¡íj·T+ @+{À ‘Ó*j·TCÒj·T+&ç.

5. m) ˇø£ ñ‘·Œ‹Ô ø£+ô|˙øÏ dü+ã+~Û+∫q $esê\T ~>∑Te ˙j·Tã&çq$.

ns¡ú dü+e‘·‡sêìøÏ >±qT   neTàø±\T yÓTT‘·Ô+ e´j·T+
    s¡÷ˆˆ       s¡÷ˆˆ

30`9`2014         6,00,000    5,00,000
31`3`2015         8,00,000    6,50,000

ô|’ $esê\ Ä<Ûës¡+>± (i) dæús¡ e´j·T+ (ii) ̋ ≤uÛÑ ̀  |ü]e÷D ìwüŒ‹Ô. (iii) neTàø±\T s¡÷. 4,00,000\T
ñqï|ü&ÉT s¡ø£åD |ü]$T‹ (iv) #·s¡ e´ej·÷\qT …̋øÏÿ+#·+&ç.

Ò̋<ë

Code No. 4201/CDE/T
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_) ~>∑Te düe÷#ês¡+ Ä<Ûës¡+>± 31 e÷]Ã 2010 Hê{Ï ìø£s¡ Á<äe´‘·«|ü⁄ $\Te\qT …̋øÏÿ+#·+&ç.
      1`4`2009    31`3`2010

   u≤´+≈£î˝À q>∑<äT 15,000        21,000
   edü÷\T U≤‘ê\T 45,000 54,000
   #Ó*¢+|ü⁄ U≤‘ê\T 75,000 50,000

   kÕ<Ûës¡D <Ûäs¡ dü÷N dü+K´:`
   1 @Á|æ˝Ÿ, 2009 Hê&ÉT 100
   31 e÷]Ã, 2010 Hê&ÉT 125
   2009`2010 >±qT düsêdü] 120

6. m) e÷qe eqs¡T\ nøö+{Ï+>¥ ÄeX¯́ ø£‘·qT ‘Ó*|æ, <ëì n_Ûeè~∆ì >∑T]+∫ dü+Á>∑Vü≤eTT>± ‘Ó*j·TCÒj·T+&ç.
Ò̋<ë

_) ô|ò’Hêì¸j·T˝Ÿ ($‘·Ô) ]b˛]º+>¥ nq>±H˚$T? ô|ò’Hêì¸j·T˝Ÿ ]b˛]º+>¥ e\q kÕ<Ûës¡D eT]j·TT Á|ü‘˚´ø£yÓTÆq
   ÁbÕ<Ûëq´‘·qT ≈£î¢|üÔ+>± $e]+|ü⁄eTT.

*******

Code No. 4201/CDE/T
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Code No. 4202/CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous (YWS)(New Pattern) Examination, July 2018

Subject : Managerial Economics and Business Environment

Paper – 102
Time : 3 Hours Max. Marks: 80

Note:  This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

PART – A (5 x 4 = 20 Marks)
(Short Answer Type)

1 Answer any five questions not exceeding 10 lines each.
(a) Managerial Economics
(b) Market Demand
(c) Production Function
(d) Expansion path
(e) Oligopoly
(f) Product differentiation
(g) IPRs
(h) Privatisation

PART – B (5 x 12 = 60 Marks)
(Essay Answer Type)

Answer the following questions is not exceeding four pages each,
using internal choice.

2 (a) (i) Describe the relationship between total, marginal and average functions,
(ii) A person working a manager is drawing a salary of Rs.3,00,000 per annum. Now

he wants to start his own firm by withdrawing an amount of Rs.10,00,000 from a
fixed deposit earning an interest of 8% p.a. He would like to start  the business in
his own premises by vacating the tenant who is paying Rs.1,00,000 p.a. The
estimated revenues and expenses of the proposed firm per annum are as
follows:
Revenue Rs. 20,00,000
Expenses :
Salaries Rs.   3,50,000
Purchase Rs. 10,00,000
Other expenses Rs.    2,00,000

Calculate the explicit and implicit costs.

OR
(b) (i) Explain the meaning and importance of price elasticity of demand.

(ii) Give Q = 3,000 – 1.5P, find out the point price elasticity of demand when the
price of the product is Rs. 5.

..2
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3 (a) (i) Explain how the firms optimize the employment of a factor of production in the
short-run.

(ii) Given the production function Q = 50K0.5 L0.5, find out the MPL and MPK.
OR

(b) (i) Explain the various short-run average cost functions.
(ii) Given TC=5000 + 20Q -1.8Q2 + 0.08Q3, find out the rate of output that result in

minimum average variable costs.

4 (a) Explain how a firm operating under the conditions of perfect competition determines
its output.

OR
(b) What do you understand by Monopoly? Explain how the firm under monopoly

determines the price of its product?

5 (a) Explain the various agreements entered into by the member countries under WTO.
OR

(b) Explain the objectives and functions of WTO.

6 (a) Explain the various forms of privatization.
OR

(b) Explain the merits and demerits of MNCs.

*****
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Code No. 4203/CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous (YWS)(New Pattern) Examination, June / July 2018

Subject : Marketing Management

Paper – 103
Time : 3 Hours Max. Marks: 80

Note:  This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

PART – A (5 x 4 = 20 Marks)
(Short Answer Type)

1 Answer any five questions not exceeding 10 lines each.
(a) What is social aspect of marketing?
(b) What are elements in marketing mix?
(c) State the need for International Marketing.
(d) What is product positioning?
(e) State consumer decision making process.
(f) State need for product development.
(g) State the steps in personal selling.
(h) State the salient features of service marketing.

PART – B (5 x 12 = 60 Marks)
(Essay Answer Type)

Answer the following questions is not exceeding four pages each, using internal
choice.

2 (a) Describe the similarities and dissimilarities relating to Rural and Urban markets.
OR

(b) Discuss the vital aspects in micro environment.

3 (a) Discuss the essentials for effective market segmentation.
OR

(b) Describe the significant models for consumer behaviour.

4 (a) Explain various issues in product life cycle stages.
OR

(b) Discuss the relevant pricing strategies in a competitive business environment.

5 (a) Describe the inter relationship between advertising and sales potentiality.
OR

(b) Discuss the significance of the CRM practices.

6 (a) Describe the consumer protection system in India.
OR

(b) Discuss the need and scope of Marketing Research and stages in marketing
research process.

*****
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FACULTY OF COMMERCE
M.Com. (CDE)(Previous) Examination, July 2018

Paper - III : Marketing Management

Time : 3 Hours Max Marks : 80

Code No. 4203/CDE/T

$uÛ≤>∑eTT ` m (5I4R20 e÷s¡Tÿ\T)
     dü÷#·q : ÁøÏ+~ yê{Ï̋ À @yÓ’Hê ◊~+{ÏøÏ, ˇø=ÿø£ÿ<ëìøÏ 10 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü »yêãT Áyêj·T+&ç.

1. m) kÕe÷õø£ uÛ≤eq˝À e÷¬sÿ{Ï+>¥ nq>±H˚$T?

_) e÷¬sÿ{Ï+>¥ düy˚Tàfi¯q+˝Àì eT÷\ø±\qT ù|s=ÿqTeTT.

dæ) n+‘·sê®rj·T e÷¬sÿ{Ï+>¥ ÄeX¯́ ø£‘·qT ù|s=ÿqTeTT.

&ç) Ábı&Óøº̆ bıõwüì+>¥ nq>±H˚$T?

Ç) $ìjÓ÷>∑<ës¡Tì ø=qT>√\T ìs¡íj·T $<ÛëHêìï ‘Ó\T|ü⁄eTT.

m|òt) edüTÔ n_Ûeè~∆øÏ ø±s¡D≤\qT ù|s=ÿqTeTT.

õ) e´øÏÔ>∑‘· neTàø±\˝Àì <äX¯\qT ù|s=ÿqTeTT.

ôV≤#Y) ùde\ e÷¬sÿ{Ï+>¥ jÓTTø£ÿ Á|ü‘˚́ ø£ \ø£åD≤\qT ù|s=ÿqTeTT.

$uÛ≤>∑eTT ` _ (5I12R60 e÷s¡Tÿ\T)
     dü÷#·q : á ÁøÏ+~ yêì˝À ˇø=ÿø£ÿ<ëìøÏ Hê\T>∑T ù|J\≈£î $T+#·ì düe÷<Ûëq+ Áyêj·TTeTT.

2. m) Á>±MTD eT]j·TT |ü≥ºD e÷¬sÿ{Ÿ\ eT<Ûä́  ‘ês¡‘·e÷´\qT eT]j·TT b˛*ø£\qT $e]+|ü⁄eTT.
Ò̋<ë

_) dü÷ø£åà |üsê´es¡D|ü⁄ $•wü̃ n+XÊ\qT #·]Ã+#·TeTT.

3. m) Á|üuÛ≤$‘· e÷¬sÿ{Ï+>¥ ôd>¥ y˚T+fÒwüHé≈£î ø±e\dæq ÄeXÊ´ø±\qT #·]Ã+|ü⁄eTT.
Ò̋<ë

_) $ìjÓ÷>∑<ës¡Tì Á|ües¡Ôq≈£î dü+ã+~Û+∫q $•wü̃ qeT÷Hê\qT $e]+|ü⁄eTT.

4. m) edüTÔ J$‘· #·Áø£+˝À $$<Ûä <äX¯\˝À Á|ü‘˚́ ø£ n+XÊ\qT $e]+|ü⁄eTT.
Ò̋<ë

_) b˛{Ï yê´bÕs¡ Á|ü|ü+#·+˝À ‘·–q <Ûäs¡\ eP´Vü‰\qT #·]Ã+#·TeTT.

5. m) yê´bÕs¡ Á|üø£≥q\T eT]j·TT neTàø±\ eè~∆øÏ >∑\ n+‘·s¡Z‘· dü+ã+<Ûëìï $e]+|ü⁄eTT.
Ò̋<ë

_) dæ.myéT.ÄsY Ä#·s¡D jÓTTø£ÿ ÁbÕ<Ûëq´‘·qT #·]Ã+#·TeTT.

6. m) uÛ≤s¡‘·<˚X¯+˝À $ìjÓ÷>∑<ës¡Tì s¡ø£åD $<ÛëHêìï $e]+|ü⁄eTT.
Ò̋<ë

_) uÛ≤s¡‘·<˚X¯ yê´bÕs¡ düs¡[˝À e÷¬sÿ{Ï+>¥ |ü]XÀ<Ûäq jÓTTø£ÿ ÄeX¯́ ø£‘·qT eT]j·TT |ü]~Ûì #·]Ã+#·TeTT.

*******

Note: This paper will be evaluated for 100 marks for the candidates not having Internal Assignment
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Code No. 4204/CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous (YWS)(New Pattern) Examination, June / July 2018

Subject : Financial and Investment Management

Paper – 104
Time : 3 Hours Max. Marks: 80

Note:  This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

PART – A (5 x 4 = 20 Marks)
(Short Answer Type)

1 Answer any five questions not exceeding 10 lines each.
(a) Financial Goals
(b) NPV
(c) Probability
(d) Cost of debt
(e) Dividend policy
(f) Working capital
(g) Mutual funds
(h) Negative correlation

PART – B (5 x 12 = 60 Marks)
(Essay Answer Type)

Answer the following questions is not exceeding four pages each, using internal
choice.

2 (a) Explain the goals of Financial Management.
OR

(b) Rao Ltd., is considering the following investment projects:

Projects
Cash Flows

Years 1 2 3
X
Y

– 2,00,000
– 2,00,000
– 2,00,000
– 2,00,000

+ 2,40,000
+1,50,000
+   40,000
+ 2,00,000

+1,50,000
+   80,000
+   60,000

+ 2,40,000
+ 60,000

Assuming the projects are independent, calculate
(i) IRR
(ii) NPV, assuming discount rate is 10%.

..2
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3 (a) Critically examine Walter’s model of dividend policy.
OR

(b) Calculate operating, financial and combined leverages from the following data:

Rs.
Sales

(–) Variable cost
Contribution

(–) Fixed cost
EBIT

(–) Interest
EBT

(–) Tax
EAT

10,00,000
4,00,000
6,00,000
2,00,000
4,00,000
1,00,000
3,00,000
1,50,000
1,50,000

4 (a) Outline the objectives and importance of cash management.
OR

(b) Mr. Krishna wishes to commence a new trading business and gives the following
information :
(i) The total estimated sales in a year will be Rs. 12,00,000
(ii) His expenses are estimated as fixed expenses of Rs.2,000 per month plus

variable expenses equal to five percent of his turnover.
(iii) He expects to fix a sales price for each product which will be 25% in excess of

his cost of purchase.
(iv)He expects to turnover his stock four times in a year.
(v) the sales and purchases will be evenly spread throughout the year. All sales

will be for cash but he expects one month’s credit for purchases.
Calculate:
(i) His estimated profits for the year
(ii) His average working capital requirement

5 (a) Write in detail about money market instruments.
OR

(b) List out the features of depository system.

6 (a) Discuss about benefits and problems of capital asset pricing method.
OR

(b) Consider a portfolio of four securities with the following characteristics.

Security Weightage i i Residual
variance (2ei)

1
2
3
4

0.2
0.3
0.1
0.4

2.0
1.7
 0.8
1.2

1.2
0.8
1.6
1.3

320
450
270
180

Calculate the return and risk of portfolio under single index model, if the return on
market index is 16.4% and the standard deviation of return on market index is
14%.

*****
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M.Com. (CDE)(Previous) Examination, July 2018

Paper - 104 : Financial and Investment Management
Time : 3 Hours Max Marks : 80

Code No. 4204/CDE/T

$uÛ≤>∑eTT ` m (5I4R 20 e÷s¡Tÿ\T)
     dü÷#·q : ÁøÏ+~ yê{Ï̋ À @yÓ’Hê ◊~+{ÏøÏ, ˇø=ÿø£ÿ<ëìøÏ 10 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü »yêãT Áyêj·T+&ç.

1. m) Ä]úø£ \øå±´\T
_) NPV

dæ) dü+uÛ≤e´‘·
&ç) ãTTD e´j·T+
Ç) &ç$&Ó+&é bÕ\d”
m|òt) ìs¡«Vü≤D≤ eT÷\<Ûäq+
õ) eT÷´#·Te˝Ÿ |òü+&é‡
ôV≤#Y) ãTTD düVü≤dü+ã+<Ûä+

uÛ≤>∑eTT ` _ (5I12R 60 e÷s¡Tÿ\T)
     dü÷#·q : á ÁøÏ+~ yêì˝À ˇø=ÿø£ÿ<ëìøÏ Hê\T>∑T ù|J\≈£î $T+#·ì düe÷<Ûëq+ Áyêj·TTeTT.

2. m) $‘·Ô ìs¡«Vü≤D jÓTTø£ÿ <Û̊´j·÷\qT $e]+#·+&ç.
Ò̋<ë

_) sêe⁄ (Ltd)  á ÁøÏ+~ ô|≥Tºã&ç ÁbÕC…≈£îº\qT n+^ø£]+∫+~.
(Cash Flows)  q>∑<äT Á|üyêVü‰\T

        ÁbÕC…≈£îº\T     dü+`0          dü+`1           dü+`2             dü+`3
x `2,00,000 G2,40,000
Y `2,00,000 G1,50,000 G1,50,000

`2,00,000 G  40,000 G   80,000        G 2,40,000
`2,00,000 G2,00,000 G   60,000        G    60,000

ÁbÕC…≈£îº\qT dü«‘·+Á‘·+>± uÛ≤$+∫, á ÁøÏ+~ yêìì …̋øÏÿ+|ü⁄eTT:
(i) IRR                    (ii) NPV

&çkÂÿ+≥T πs≥TqT 10% n+#·Hê y˚j·T&ÉyÓTÆq~.
3. m) yê\ºsY qeT÷Hê &ç$&Ó+≥T bòÕ\d” >∑÷]Ã $eTs¡ÙHê‘·àø£+>± $e]+|ü⁄eTT.

Ò̋<ë
_) Á|üø£ÿq Ç∫Ãq $esê\ qT+&ç Ä|üπs{Ï+>¥, ô|ò’Hêì‡j·T˝Ÿ eT]j·TT ø£+u…’Hé¶ *e¬sCŸ\qT …̋øÏÿ+#·+&ç.

             s¡÷.
    neTàø±\T 10,00,000
(`) #·s¡ e´j·T+   4,00,000
    ø±+Á{ÏãT´wüHé   6,00,000
(`) dæús¡ e´j·T+   2,00,000

Note: This paper will be evaluated for 100 marks for the candidates not having Internal Assignment
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e&û¶ eT]j·TT |üqTï≈£î eTT+<äT ˝≤uÛÑ+   4,00,000
(`) e&û¶   1,00,000
|üqTï≈£î eTT+<äT ˝≤uÛÑ+   3,00,000
|üqTï                                       1,50,000

       |üqTï ‘·sê«‘· ˝≤uÛÑ+                         1,50,000
4. m) q>∑<äT ìs¡«Vü≤D jÓTTø£ÿ <Û̊´j·÷\T eT]j·TT ÁbÕ<Ûëq´‘·qT ‘Ó\TŒeTT.

Ò̋<ë
_) Mr. ø£èwüí q÷‘·q yê´bÕsêìï ÁbÕs¡+_Û+#ê&ÉT eT]j·TT á ÁøÏ+~ $esê\qT n+~+#ês¡T.

(i)  ˇø£ dü+e‘·‡sêìøÏ n+#·Hê y˚j·Tã&çq |üP]Ô neTàø±\T s¡÷. 12,00,000
(ii)  dæús¡ e´j·÷\qT HÓ\≈£î s¡÷. 2,000\T>±, #·s¡ e´j·÷\qT ≥s√ïesYô|’ 5%>± n+#·Hê y˚XÊs¡T.
(iii)  ˇø√ÿ ñ‘·Œ‹Ô neTàø£|ü⁄ <Ûäs¡qT ø=qT>√\T e´j·T+ô|’ 25% m≈£îÿe>± ìs¡ísTT+#ê\ì nqT≈£îHêï&ÉT.
(iv)  yê´bÕs¡+˝À düs¡T≈£îqT, Á|ü‹ @&Ü~ 4 ¬s≥T¢ ≥s√ïesY #˚j·÷\ì nqTø=HÓqT.
(v)  dü+e‘·‡s¡+ yÓTT‘·Ô+˝À neTàø±\T eT]j·TT ø=qT>√fi¯ófl düe÷q+>± uÛ≤$+#ÓqT. nìï ≈£L&Ü q>∑<äT
   neTàø±\T>± uÛ≤$dü÷Ô, ø=qT>√fi¯ófl≈£î e÷Á‘·+ 1 HÓ\ ãTTD e´e~Ûì Çe«&ÜìøÏ ìs¡ísTT+#ÓqT.
ô|’ $esê\qT ã{Ïº ÁøÏ+~ yê{Ïì ø£qT>=qTeTT.
  (i)  n‘·&ÉT dü+e‘·‡sêìøÏ n+#·Hê y˚dæq ˝≤uÛ≤\T
  (ii)  n‘·&ç dü>∑≥T ìs¡«Vü≤D≤ eT÷\<Ûäq ÄeX¯́ ø±\T.

5. m) Á<äe´ e÷¬sÿ{Ÿ |ü]ø£sê\qT >∑÷]Ã $e]+>± Áyêj·TTeTT.
Ò̋<ë

_) &çbÕõ≥Ø $<Ûëq+ jÓTTø£ÿ \ø£åD≤\qT ù|s=ÿqTeTT.
6. m) eT÷\<Ûäq ÄdüTÔ\ <ÛäØø£s¡D |ü<ä∆‹ jÓTTø£ÿ Á|üjÓ÷»Hê\T eT]j·TT düeTdǘ Ò̋$?

Ò̋<ë
_) á ÁøÏ+~ \ø£åD≤\qT >∑\ Hê\T>∑T ôd≈£L´]{°\ b˛sYº bǫ̀ *jÓ÷qT >∑eTì+#·+&ç.

ôd≈£L´]{° uÛ≤s¡eTT i  ne•wüº $#·s¡D+

1 0.2 2.0 1.2 320
2 0.3 1.7 0.8 450
3 0.1 `0.8 1.6 270
4 0.4 1.2 1.3 180
dæ+–˝Ÿ Ç+&Óø˘‡ yÓ÷&É̋ Ÿ˝À b˛sYºbǫ̀ *jÓ÷ jÓTTø£ÿ sêã&ç eT]j·TT ]dtÿ\qT ˝…øÏÿ+#·+&ç. e÷¬sÿ{Ÿ sêã&ç

jÓTTø£ÿ 16.4% eT]j·TT e÷¬sÿ{Ÿ dü÷Nô|’ sêã&ç jÓTTø£ÿ ÁbÕe÷DÏø£ $#·\q+ 14%>± nqTø=qTeTT.

Code No. 4204/CDE/T
-2-
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Code No. 4205/CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous (YWS)(New Pattern) Examination, July 2018

Subject : Organization Theory and Behaviour

Paper – 105
Time : 3 Hours Max. Marks: 80

Note:  This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

PART – A (5 x 4 = 20 Marks)
(Short Answer Type)

1 Answer any five questions not exceeding 10 lines each.
(a) Evolution of organization concept
(b) Hawthorne experiment
(c) Centralization of Authority
(d) Line authority
(e) Perception
(f) Charismatic Leader
(g) Group cohesiveness
(h) Theory ‘Z’

PART – B (5 x 12 = 60 Marks)
(Essay Answer Type)

Answer the following questions is not exceeding four pages each, using internal
choice.

2 (a) Explain the nature and limitations of classical organization theory.
OR

(b) Briefly explain about various models of organization behaviour.

3 (a) Define organization. Explain its types.
OR

(b) Outline the reasons for line and staff conflicts.

4 (a) How do you make use of learning theories in organization behaviour?
OR

(b) Describe the importance and process of communication.

5 (a) Explain any two content theories of motivation.
OR

(b) Explain the benefits and limitations of management by objectives.

6 (a) Write a note on contemporary issues in leadership.
OR

(b) Discuss in detail about various styles of leadership.

*****
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FACULTY OF COMMERCE
M.Com. (CDE)(Previous) (YWS) (New Pattem)Examination, July 2018

Code . 105 :

Subject : Organisation Theory and Behaviour

Time : 3 Hours Max Marks : 80

Code No. 4205/CDE/T

$uÛ≤>∑eTT ` m (5I4R 20 e÷s¡Tÿ\T)
     dü÷#·q : ÁøÏ+~ yê{Ï̋ À @yÓ’Hê ◊~+{ÏøÏ, ˇø=ÿø£ÿ<ëìøÏ 10 |ü+≈£îÔ\≈£î $T+#·≈£î+&Ü »yêãT Áyêj·T+&ç.

1. m) e´ekÕú uÛ≤eq jÓTTø£ÿ Ä$sê“¤e+

_) Vü‰‘√sYï Á|üjÓ÷>∑+

dæ) n~Ûø±s¡ πø+ÁBø£s¡D

&ç) …̋’Hé n<Ûë]{°

Ç) <äèø£Œ<∏ä+

m|òt) düeTs¡úe+‘·yÓTÆq Hêj·T≈£î&ÉT

õ) ãè+<ä dü+X¯ø£Ô‘·

ôV≤#Y) #Ó*¢+|ü⁄ ø±s¡´Áø£eT+

$uÛ≤>∑eTT  ` _ (5I12R 60 e÷s¡Tÿ\T)
     dü÷#·q : á ÁøÏ+~ yêì˝À ˇø=ÿø£ÿ<ëìøÏ Hê\T>∑T ù|J\≈£î $T+#·ì düe÷<Ûëq+ Áyêj·TTeTT.

2. m) dü+Áq|ü<ëj·T e´ekÕ∆ dæ<ë∆+‘·+ jÓTTø£ÿ dü«uÛ≤eeTT eT]j·TT |ü]$T‘·T\qT $e]+|ü⁄eTT.
Ò̋<ë

_) $$<Ûä s¡ø±\ Organisation Behaviour qeT÷Hê\qT >∑T]+∫ ≈£î¢|üÔ+>± Áyêj·TTeTT.

3. m) e´edüúqT ìs¡«∫+∫, <ëì s¡ø±\qT $e]+|ü⁄eTT.
Ò̋<ë

_) …̋’Hé eT]j·TT kÕº|òt ‘·>±<ë\≈£î >∑\ ø±s¡D≤\qT ù|s=ÿqTeTT.

4. m) ˇø£ e´edüú̋ À bÕ{Ï+#·e\dæq $\Te\qT >∑÷]Ã $e]+|ü⁄eTT.
Ò̋<ë

_) uÛ≤eÁ|ükÕs¡+ jÓTTø£ÿ ÁbÕ<Ûëq´‘· eT]j·TT Á|üÁøÏj·TqT e]í+|ü⁄eTT

5. m) Ä>∑+‘·Tø£ es¡ÿs¡¢≈£î \uÛÑ´eTj˚T´ $$<Ûä Á|üjÓ÷»Hê˝Ò$?
Ò̋<ë

_) <Û̊´j·÷\ <ë«sê ìs¡«Vü≤D jÓTTø£ÿ Á|üjÓ÷»Hê\T eT]j·TT |ü]$T‘·T\qT ‘Ó\T|ü⁄eTT.

6. m) Hêj·Tø£‘·«+˝Àì düeTø±©q n+XÊ\qT >∑÷]Ã Áyêj·TTeTT.
Ò̋<ë

_) $$<Ûä Hêj·Tø£‘·« s¡ø±\qT >∑÷]Ã #·]Ã+|ü⁄eTT.

*******

Note: This paper will be evaluated for 100 marks for the candidates not having Internal Assignment
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Code No. 701 / CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous Examination, July / August 2019
Subject: Advanced Managerial Accounting

Paper – 1 (101)
Time: 3 Hours Max. Marks: 80

Note: 1) This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

2) Answer any five questions from Part-A and all questions from Part-B.
Each question carries 4 marks in Part-A and 12 marks in Part-B.

PART – A (5x4 = 20 Marks)
[Short Answer Type]

1. Answer any five of the following questions in not exceeding 20 lines each.
a) Define accounting theory

b) Explain the functions of management accounting

c) From the following data, calculate trend percentages taking 2013 as base year:

Details 2013
Rs.

2014
Rs.

2015
Rs.

2016
Rs.

2017
Rs.

Salary 1,24,000 1,31,000 1,28,000 1,33,000 1,30,000
Wages 43,000 42,000 46,000 48,000 50,000
Gross Profit 36,000 38,000 31,000 32,000 33,000

d) How will you show the following items in funds flow analysis?
Balance Sheet

Liabilities 2016
Rs.

2017
Rs.

Provision for Tax 20,000 30,000
Tax provided during the year 2017 was Rs. 20,000.

e) A mobile manufacturing company finds that while it costs Rs.625 each to make

certain component, the same is available in the market at Rs.575 each with an

assurance of continued supply. The cost of component is as under:

Rs.
Materials 273 Labour 175
Other variable overheads 50
Depreciation 125

Total 625
Should you make or buy?

f) Define responsibility accounting

g) Explain the objectives of Human Resource Accounting

h) What do you mean by harmonization in financial reporting?
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PART – B (5x12 = 60 Marks)
[Essay Answer Type]

2 a) Define accounting principle. Explain briefly about various accounting concepts and
conventions.

OR
b) Define the term Managerial Accounting. Explain its relationship with Cost

Accounting.

3 a) From the following particulars, prepare the Balance Sheet of a Company as on
31st March, 2017:                                           Rs.

1) Working Capital 75,000
2) Reserves & Surplus 1,00,000
3) Bank Overdraft 60,000
4) Current Ratio 1.75
5) Liquid Ratio                                        1.25
6) Fixed assets to proprietor’s funds 75%

OR
b) From the following Balance Sheets of a company, prepare Funds Flow Statement as

on 31-03-2017.
Liabilities 2016

Rs.
2017
Rs. Assets 2016

Rs.
2017
Rs.

Share Capital 2,00,000 2,50,000 Land & Building 2,00,000 1,90,000
General Reserve 50,000 40,000 Plant 1,50,000 1,74,000
Profit & Loss Account 30,500 30,600 Stock 1,00,000 74,000
Loan 70,000 -- Debtors 80,000 64,200
Creditors 1,50,000 1,35,200 Cash 500 600
Provision Tax 30,000 35,000 Bank -- 8,000
Total 5,30,500 5,10,800 Total 5,30,500 5,10,000

Additional Information:
1 Depreciate written off on plant Rs. 14,000
2 Dividend of Rs. 20,000 was paid during the year 2017
3 Income tax provision made during the year was Rs.25,000
4 A piece of land has been sold during the year at cost.

4 a) A manufacturer has planned his level of production at 50% of his plant capacity of
30,000 units. At 50% capacity expenses are as under:

Particulars Rs.
Direct materials 8,280
Direct labour 11,160
Variable overheads 3,960
Fixed overheads 6,000

The home selling price is Rs. 2 per uit. Now, the manufacturer receives a trade
enquiry from overseas for 6,000 units at a price of Rs. 1.45 per unit. If you were the
manufacturer, would you accept or reject the offer? Support your statement with
suitable cost and profit details.
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OR
b) “Responsibility Accounting is an important devices for control”. Discuss.

5 a) From the following data, calculate “Net Monetary Gain or Loss” required under
Current Purchasing Power Method.

Particulars 01-04-2016
Rs.

31-03-2017
Rs.

Cash 1,00,000 2,00,000
Debtors 2,00,000 2,50,000
Bills Receivables 1,00,000 50,000
Creditors 1,50,000 2,00,000
Bills Payables 1,00,000 1,50,000
Bank Overdraft 1,00,000 50,000

Retail Price Index Numbers:
On 01-04-2016 200
On 31-03-2017 300
Average for the year 150

OR
b) The following information is given:

Particulars 2016
Rs.

2017
Rs.

Sales 6,00,000 9,00,000
Cost of goods sold 4,00,000 4,50,000

During the year, increase in quantity or volume was 20%.

You are required to:

i) Calculate percentage change in price and cost

ii) Prepare reconciliation statement of Gross Profit earned in 2016 and 2017.

6 a) Explain briefly about various methods of valuing human resources.
OR

b) Discuss the recent developments in corporate reporting in India.

****
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Code No. 702 / CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous Examination, July / August 2019
Subject: Managerial Economics of Business Environment

Paper – 102
Time: 3 Hours Max. Marks: 80

Note: 1) This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

2) Answer any five questions from Part-A and all questions from Part-B.
Each question carries 4 marks in Part-A and 12 marks in Part-B.

PART – A (5x4 = 20 Marks)
[Short Answer Type]

1. Answer any five of the following questions in not exceeding 10 lines each.
a) Optimization
b) Cross Elasticity of Demand
c) Cobb Douglas Production Function
d) Economies of Scale
e) Monopolistic Competition
f) Kinked Demand Curve
g) IPRs
h) MNC

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer all the questions by using internal choice
\in not exceeding 3 pages each.

2 a) i) Explain how the total production is maximized with the help of functional
relationship between total and marginal products.

ii) Determine the average functions for each of the following total functions:
a) Total Revenue = 100Q-Q2

b) Total Cost = 1000 + 10Q + 0.01Q2

c) Total Profit = 50Q – 0.1Q2 – 1000
OR

b) i) Explain the various determinants of market demand and develop the market
demand equation.

ii) The demand equation faced by a company is given by P = 10,000 – 4Q
a) Write the MR equation
b) At what price and quantity will TR be maximized?

3 a) i) Explain how the firm optimizes the employment of one variable factor of
production.

ii) The Production Function of a firm is 20K0.5L0.5. If the Capital Stock is fixed at nine
units (K=9), the price of product is Rs. 6 per unit, wage rate (w) is Rs.2 per unit,
determine the optimal or profit maximizing rate of labour to be hired.

OR
b) i) Explain the long-run total and average cost functions.

ii) Calculate the Break Even Point when TR = 100Q and TC = 10,000 + 30Q.
..2
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4 a) What do you understand by product differentiation? Explain how a firm under
monopolistic competition takes decisions on output and price of its product.

OR
b) “A firm under perfect competition is a price taker and not a price maker” – Explain.

5 a) Explain the role of WTO in the development of world trade.
OR

b) Explain the various agreements under TWO.

6 a) Explain the meaning and forms of privatization.
OR

b) Explain the role of MNCs in the economic development of developing country.

****
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Code No. 703 / CDE
FACULTY OF COMMERCE

M.Com. (CDE) Previous Examination, July/August 2019

Subject: Marketing Management
Paper – III (103)

Time: 3 Hours Max. Marks: 80
Note: 1) This paper will be evaluated for 100 marks for the candidates not having

Internal Assignment.
2) Answer any five questions from Part-A and all questions from Part-B.

Each question carries 4 marks in Part-A and 12 marks in Part-B.
PART – A (5x4 = 20 Marks)

[Short Answer Type]
1. Answer any five of the following questions in not exceeding 20 lines each.

a) Distinguish between selling and marketing concepts
b) State the types of Demand
c) What is meant by Mega Marketing?
d) What are the elements in Micro Environment?
e) State the objectives of Market Segmentation
f) What is Brand Loyalty?
g) State the reasons for new product development
h) What is supply chain management?

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer the following questions in not exceeding
four pages each, using internal choice.

2 a) Discuss the role of marketing in economic development of a nation.
OR

b) Explain the significant elements in macro environment.

3 a) Describe the bases for market segmentation of consumer goods.
OR

b) Discuss the factors influencing for consumer behaviour.

4 a) Describe the implications for marketers in various stages of product life cycle.
OR

b) Discuss different pricing strategies for market strategies for market sustainability.

5 a) Explain the significance of advertising in promoting sales under competitive business
environment.

OR
b) What is online marketing and state its advantages and limitations.

6 a) Discuss the nature and need of service marketing in recent time.
OR

b) Describe the marketing research process and its significance.
****
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Code No. 704 / CDE / E
FACULTY OF COMMERCE

M.Com. (CDE) Previous Examination, July / August 2019
Subject: Financial and Investment Management

Paper – IV (104)
Time: 3 Hours Max. Marks: 80

Note: 1) This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

2) Answer any five questions from Part-A and all questions from Part-B.
Each question carries 4 marks in Part-A and 12 marks in Part-B.

PART – A (5x4 = 20 Marks)
[Short Answer Type]

1. Answer any five of the following questions in not exceeding 10 lines each.
a) What is time value of money?

b) What is operating leverage?

c) What are the objectives of cash management?

d) What is online trading?

e) What is efficient portfolio?

f) What is cost of capital?

g) What is insider trading?

h) What is capital market line?

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer all the questions in not exceeding three pages each
for theory questions using internal choice.

2 a) Explain the relationship between the financial management and other areas of
management.

OR
b) A company has to choose one of the following two mutually exclusive projects A and

B. Project A requires Rs.20,000 and Project B requires Rs.15,000 as initial
investment. Both the projects will be depreciated on straight line basis. The first cost
of capital is 10% and tax rate is 50%. The before tax cash flows are as follows:

Year 1 2 3 4 5
Project – A 4,200 4,800 7,000 8,000 4,000
Project – B 4,200 4,500 4,000 5,000 4,400

Which project should not accepted under Net Present Value Method?
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3 a) What are the determinants of capital structure?
OR

b) Calculate operating, financial and combined leverages for the following firms and
interpret the results:

Particulars Firm – X Firm – Y Firm – Z
Output (Units) 4,00,000 1,00,000 6,00,000
Unit Variable Cost (Rs) 1.00 7.00 0.20
Unit Selling Price (Rs) 4.00 20.00 0.50
Fixed Cost (Rs) 3,00,000 6,00,000 90,000
Interest Expenses (Rs) 30,000 45,000 ---

4 a) What is ABC analysis of inventory management?
OR

b) While preparing a project report on behalf of a client, from the following facts
complete the working capital requirements of the firm after adding 10% of the
estimated figure for contingencies.

Estimated
cost per unit
of production

Amount
per unit

(Rs.)
Raw materials 45.00
Labiour 20.00
Overheads 32.00
Total cost 97.00

Additional Information:
Selling price per unit (Sales 20,000 units) Rs.130
Raw materials in stock 4 weeks
Work-in-progress (50% of completion stage) 2 weeks
Finished goods stock 4 weeks
Credit allowed to suppliers 4 weeks
Credit allowed to debtors 8 weeks
Lag in payment of wages and overheads 2 weeks
Cash at Bank Rs.25,000

Assume that production is carried out evenly throughout the year (52 weeks).

5 a) Explain the role of SEBI in regulating the secondary market operations.
OR

b) Explain the need and objectives of depository system in India.

6 a) What are the various assumptions of the Markowitz model?
OR

b) Two securities Anita Company Limited and Sunita Company Limited have expected
return of 15% and 20% respectively while the standard deviation are 50% and 30%,
the correlation coefficient between the shares is -0.60. A portfolio is constructed with
40% of funds in Anita Company Limited and 60% of funds in the Sunita Company
Limited.

****
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M.Com. (CDE) Previous Examination, July / August 2019
Subject: Organization Theory and Behaviour

Paper – 105
Time: 3 Hours Max. Marks: 80

Note: 1) This paper will be evaluated for 100 marks for the candidates not having
Internal Assignment.

2) Answer any five questions from Part-A and all questions from Part-B.
Each question carries 4 marks in Part-A and 12 marks in Part-B.

PART – A (5x4 = 20 Marks)
[Short Answer Type]

1. Answer any five of the following questions in not exceeding 20 lines each.
a) OB Model
b) Modern Organization Theory
c) Decentralization
d) Staff Authority
e) Attitude
f) Pay Plans
g) QWL
h) Organizational conflict

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer all the questions in not exceeding four pages each
using internal choice.

2 a) Discuss about various approaches to organizational theory.
OR

b) Discuss the challenges and opportunities for organizational behaviour.

3 a) What is meant by delegation? Explain its advantages.
OR

b) Explain about determinants of span of management.

4 a) Give an overview on theories of group formation.
OR

b) Examine the impact of technology on communication.

5 a) Write in detail about Adams Theory of motivation.
OR

b) Discuss the factors leading to change in organizational culture.

6 a) Outline the features of trait theory.
OR

b) How do you address the challenges of change?
****
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FACULTY OF COMMERCE 

 M.Com (previous) (CDE) Examination, February   2021 
Subject : Advanced Managerial Accounting 

Paper – I (101) 
Time : 2 Hours Max Marks : 80 
 

Note: This paper will be evaluated for 100 marks for the candidates not having Internal 
Assignment 

 

Part–A   
Note: Answer Any Four of the following questions. (4 X 5 = 20 marks) 

1. Explain the role of accounting theory. 
2. Explain the significance of Management accounting. 
3. From the following  information calculate  

 i) Current liabilities  ii) Inventory information 
 Current ratio : 2.5 
 Acid test ratio : 1.5 
 Current Assets Rs. 2,50,000 

4. How will you show the following items in funds flow analysis : 

Balance Sheet 
Assets 2019 2020 

 Rs. Rs. 
Plant 1,00,000 1,25,000 

Provision for depreciation    20,000    30,000 

    80,000    95,000 
  During the year a part of plant costing Rs. 12,000 (accumulated depreciation 

being  Rs. 4,000) was sold for Rs. 6,000. 
5. A company produces two products X and Y. The following facts are given: 

 X Y 

 Rs. Rs. 

Contribution per unit 2 3 

Required production hours per unit 1 2 

Sales potential (units) 1500 800 

Available production hours 2000 hours, determine the optimum Product – mix 
6. What do you mean by Cost Centre? 
7. What is Human Resources Accounting? 
8. What are the objectives of financial reporting? 
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Part-B  
1. Note: Answer Any Four of the following questions. (4 X 15 = 60 marks) 

9. Define accounting principles? Explain various accounting concepts? 
   

10. What do you mean by Management Accounting? Explain the steps  in installation 
of management accounting system? 

 
11. From the following particulars, prepare the Balance Balance Sheet of a Company 

as on 31st March, 2019 
   Sales for the year Rs. 6,00,000 

   Sales to Net worth 4 times 

   Current liabilities to net worth 50% 

   Total debt to net worth 70% 

   Current ratio 2:1 

   Sales to inventory 8 times 

   Average collection period 35 days 

  
12 The income statement and balance sheets of an enterprise for the year 2019 as  
 follows: 
   i) Income statement for the year ended 31st March, 2019 
   Particulars       Rs. 

   Sales 5,00,000 

   Cost of sales 3,50,000 

   Tax provision    40,000 

   Dividend provision    20,000 

   ii) Balance Sheet as on 31st March, 2018 and 2019 

Liabilities 2018 2019 Assets 2018 2019 
 Rs, Rs.  Rs. Rs. 

Share capital 1,20,000 1,20,000 Fixed assets 1,40,000 1,90,000 
General reserve 40,000 1,30,000 Depreciation 40,000 50,000 
Debentures 70,000 80,000  ----- ------ 
Sundry creditors 20,000 40,000  1,00,000 1,40,000 
Bills payable 18,000 26,000 Inventory 90,000 75,000 
Dividend 
provision 

---- 20,000 Bills 
receivable 

55,000 1,72,000 

   Cash balance 23,000 29,000 
 ----- ----  ----- ----- 
Total 2,68,000 4,16,000 Total 2,68,000 4,16,000 

 You are required to prepare cash flow statement for the year ended 31st March, 
2019 as per AS-3 using indirect method. 
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13 The ABC limited manufactures 500 articles for home consumption at the following  
 costs. 

Particulars Rs. Rs. 
Marginal costs ---- 8,000 
Wages ---- 7,200 
Factory overheads:   
Fixed 2,400  
Variable 4,000  
Administrative overheads (fixed)  6,400 
Selling & distribution overheads:  3,600 
Fixed 2,000  
Variable 3,200  
 ---- 5,200 
 Total 30,400 

 

The home market can consume only 1000 articles at a selling price of Rs. 30 
particle. However, the foreign market for this product can consume additional 
2000 articles if the price is reduced to Rs. 25. Is the foreign market worth trying? 
 

14  What is responsibility accounting? Discuss various steps involved in responsibility  
  accounting. 
  
15 From the following information, Calculate ‘Cost of Sales adjustment’ (COSA) 

required under Current Cost Accounting Method: 
Particulars Rs. 

Opening Stock 50,000 
Purchases 2,20,000 
Total 2,70,000 
Less : Closing Stock 70,000 
Cost of Sales 2,00,000 

   

 Index Number :        Opening          100 
                                  Average          150 
                                  Closing            300 
16 The following information is given to you:    

Particulars 2018 2019 
 Rs. Rs. 

Sales 1,50,000 3,50,000 
Cost of goods sold 1,00,000 2,75,000 

 

 During the year 2019, cost is increased by 25% You are required to calculate : 
i) Percentage change in quantity and price 
ii) Prepare reconciliation statement of gross profit earned in 2018 and 2019. 

 

17 Explain the Historical Cost Approach of Human Resource Accounting. 

18 Describe the main obstacles in the harmonization of financial reporting at  
 international level. 

******* 
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FACULTY OF COMMERCE 

 M.Com (CDE) (Final) Examination, November  2020 
Subject : Quantitative  Techniques for Business Decisions 

Paper – 201 
Time : 2 Hours Max Marks : 80 
 

Part–A  
 Answer any Four questions.  (4X5=20 MARKS) 
 

1 Methods of primary data collection. 
2 Independent – Dependent events in probability. 
3 Assumptions of Poison distribution. 
4 Characteristics of a Normal distribution curve. 
5 Properties of a good estimator 
6 Conditions for applying  chi square test 
7 EVPI 
8 Limitations of game theory.  

Part-B 
    Answer any Four questions.                (4X15=60 MARKS) 
9 What are the managerial applications of statistics in decision making. 

 
10 Write about various types of sampling. 
 
11 Three machines A,B,C produce respectively 50%, 30% and 20% of the total out put 
 of a factory. The percentage of defective output of these machines are respectively 
 3%, 4%, 5% If an item is defective, what is the probability it was from machine  
 A, B or C. 

 
12 Fit a Poisson distribution to the following data and calculate the theoretical 

frequencies 
Deaths 0 1 2 3 4 
Frequencies 109 65 22 3 1 

 
13. Explain the steps in hypothesis formation and testing. 
 
14.A certain stimulates when administered to each of the 12 patients resulted in the 

following increase in BP. 5,2,8 -1, 3, 0, 2, 1, 5, 0, 4, and 6 can it be concluded 
that the stimulates  in general be accompanied by increase of blood pressure? 
(given for 11d.f , to 0.01=2.7) 

 
 
 
 

…2 
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15  The number of  road accidents of week in a certain are were as follows: 12, 8, 20,  
 2, 14, 10, 15, 6, 9, 4 All these frequencies in agreement with the belief that  
 accidents  are the same during the 10 week period? Apply chi square test.  

 
16 Calculate a two way analysis for the following  dater. 
 

Plot of Land A B C D 
I 3 4 6 6 
II 6 4 5 3 
III 6 6 4 7 

 
17  Each unit of a product produced and sold yield a  profit of Rs. 50  but a unit 

produced if not sold results in a loss of Rs. 30. The probability distribution of the 
number of  units demonded is as follows: 

 
No of units demonded 0 1 2 3 4 
Probability 0.20 0.20 0.25 0.30 0.05 

   
  How many units are to be produced to miximize the expected profits? Also 

calculate EVPI 
18  Solve the following game  
 
                              player B 

                                     I   II   III  IV 

  
























8040

0424

4243

0423

   

IV

III

II

I

APlayer  

 

******* 
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Subject : Financial and Investment Management 

Paper - 104 
Time : 2 Hours Max Marks : 80 
 

Note: This paper will be evaluated for 100 marks for the candidates not having 
Internal Assignment 

 
Part–A 

Note: Answer Any Four of the following questions. (4 X 5 = 20 marks) 

1.  What is risk? 
2.  What is dividend? 
3.  What is liquidity? 
4.  What is public issue? 
5.  What is diversification? 
6.  What is cost of deft? 
7.  What is optimum  capital structure? 
8.  What is EOQ? 

Part-B  
Note: Answer Any Four of the following questions. (4 X 15 = 60 marks) 
9. What is ‘Time Value of money’? Explain the application of time value of money 
 concept in financial decisions. 
 
10. Company – X is Considering a  project which will cost Rs. 60,000 It has a life 
   expectancy of 6 years and the tax rate is 50%. Estimated profits before depreciation  
 and tax are presented as follows: 

Year: 1 2 3 4 5 6 

PBDT: 10,000 12,000 15,000 18,000 20,000 22,000 

  Compute the following: 
1) Payback period 
2) Average rate of Return 
3) NPV at 10% discount rate 

11  Explain the Net income approach of capital  structure theory with suitable 
example. 

 
…2 
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12 From the following data, calculate the value of an equity share of each of the  
following three companies applying welter’s formula when dividend payment  
ratio is   a) 25%     b) 50%     c) 75% 

Particulars Company-X Company-Y Company-Z 
R 15% 7% 10% 
Ke 10% 12% 10% 
E Rs. 18 Rs. 16 Rs. 9 

 

13. Explain the tools of inventory control. 

14. Cost sheet of Dot company Limited. 
  Raw Material Rs. 45 
  Direct Labar Rs. 18 
  Overheads (including dep.Rs.10) Rs. 40 
  Total Cost Rs. 103 
  Profit Rs. 17 
  Selling price Rs. 120 

1. Average stock of Raw material is for one month. 
2. Average material in wone – in-progress is for half month. 
3. Credit allowed by suppliers is one months and credit allowed to debtors is 

one month. 
4. Average time lag in payment of overheads 30 days. 
5. 30% of sales are on cash basis 
6. Expected cash balance Rs. 1,00,000 
7. Finished goods lie in warehouse for half a month. 

Prepare the working capital needed to finance a level of activity of Rs. 
45,000 units of out put production is carried carried on evenly  though out 
the  year and wages and over head accrue similarly.  

15  What are the different types of securities available in the capital market?  
16  What are the different methods used for pricing of an issue?  
17  What do you understand by investment risk? Discuss market risk and inflation 

risk. 
18  Securing-A has a beta of 0.75 while security-B has a beta of 1.45. calculate the 
  expensed return for these securities, assuming that the risk free rate  is 15% and  
  the expected  return of the market is 14%. 
 

******* 
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Note: This paper will be evaluated for 100 marks for the candidates not having Internal 
Assignment 

Part–A 
Note: Answer Any Four of the following questions. (4 X 5 = 20 marks) 

1. Marketing of mix  
2. Objectives of Marketing  
3. SWOT Analysis  
4. Requirements of effective segmentation.  
5. Branding 
6. New product pricing 
7.   Publicity 

 8. Marketing for nonprofit organizations 
Part-B  

Note: Answer Any Four of the following questions. (4 X 15 = 60 marks) 

9. Explain the effects in marketing strategy formulation and implementation. 

10.  Explain briefly the role played by micro environment factors on marketing  
 divisions. 
11.  With suitable examples explain the types of target marketing. 

12.  Explain the steps in consumer division process. 

13.  With suitable examples explain  the product mix and product line divisions. 

14.  Write about various pricing methods. 

15.  Write about the need objectives, types and major divisions in advertising  

16.  Write about the need role, of functions of various marketing of intermediaries  

17. Explain the working of consumer protection act in India. 

18.  Design a model questionnaire to ascertain consumer delight for a newly 

  established three star hotel. 

******* 
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Note: This paper will be evaluated for 100 marks for the candidates not having 
Internal Assignment. 

 
Part–A 

Note: Answer Any Four of the following questions. (4 X 5 = 20 marks) 

1 Components of Open System of Organisation 

2 Difference between delegation and decentralization 
3 Sensation and Perception 
4 Matrix structures 
5 Management by Objectives 
6 Transformational leadership 
7 Force field analysis 
8 Group think 

Part-B 
Note: Answer Any Four of the following questions. (4 X 15 = 60 marks) 

9  Discuss the characteristics and limitations of the Neo-classical organizational 
theory . 

  
10  How environment influences organizational behavior? 
 
11  Discuss the components of organization structure. 

  
12  Do you think bureaucracy is always bad? Substantiate your answer. 
 
13  What is personality? What are the determinants of personality? 

  
14  How do you improve group cohesiveness? Do you think group cohesiveness  
 always improves productivity? 
 
15  How do you make use of Equity theory in organisational  behavior? 

  
16  What do you mean by Morale? How do you improve morale in organisations? 
 
17  Discuss the utility of managerial grid theory. 

  
18  How do you manage conflict  in an organization? 

******* 
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